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• Development

• Proposition

• Support

• Focus

• Quantitative information



• Focus:

• Adding, revising, retaining, or deleting material 
on the basis of relevance to the purpose (e.g., 
deleting an irrelevant sentence)



• 删除或添加论据：

1. 能删除的信息：
• 不能做任何支持
• 与文章无关

2. 能添加到文章中的信息：
• 一定可以对文章做支持



• 出题形式：

• At this point, the writer is considering deleting 
(adding) the following sentence:  
____________________________

• Should the writer make this deletion (addition) ?
• A/B   Yes (Deleted)
• C/D   No (Kept)



• 方法论：

1. 审清题干，总结给出的论据是否相关
2. 观察选项：评估选项支持信息



• 做题步骤：

1. 句子去留的是非判断
2. 理由的删选



• Though these conservation methods can be costly 
and time-consuming, they are well worth the effort. 
Nutritionists consider Greek yogurt to be a healthy 
food: it is an excellent source of calcium and 
protein, serves  to be a digestive aid, and  it 
contains few calories in its unsweetened low- and 
non-fat forms. Greek yogurt is slightly lower in 
sugar and carbohydrates than conventional yogurt 
is. 



• The writer is considering deleting the underlined 
sentence. Should the writer do this?

• A) Yes, because it does not provide a transition 
from the previous paragraph.

• B) Yes, because it fails to support the main 
argument of the passage as introduced in the first 
paragraph.

• C) No, because it continues the explanation of how 
acid whey can be disposed of safely.

• D )No, because it sets up the argument in the 
paragraph for the benefits of Greek yogurt.



• Renewable energy sources pose a challenge for the businesses 
and utilities that use them : the need to store surplus energy to 
use later, during times of peak demand.

• The writer is considering revising the underlined portion to the 
following. 

• sources, such as hydropower, wind power, and solar power,
• Should the writer make this addition here?
• A) Yes, because it set up how the information in the passage 

will be structured.
• B) Yes, because it offers examples that clarify a key term in the 

passage.
• C) No, because it groups together examples that are too 

different to be of use to the passage.
• D) No, because it conflicts with information presented later in 

the sentence.
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